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Multiplication 6x, 7x, 8x, 9x and 10x tables
Solve the maths problems to reveal the hidden picture. Some answers have a
special colour, shown below. Leave the other answers white.

10,20,30 =red  28,49,63,70 = blue 27, 45,81, 99 = brown

32,40, 64 = green 18, 36, 54 = white

7eu | 727 7210 707 | 729 [1007[7510] 4x7 | 727

1007 | 8x4 | 7e0 | 700|707 [ 724 [1007] 508 | ax7

1007 [ 85 | 8xs | 750 | 4n7 |47 |axs|sxs|7220

wer | 7ea | wxs 1001|727 [1003] 8xa| 707|700

wx7 [ ax7 | 6x3 | 3ve |10x2| 69 [ 66 | 729|707

757 [ 6x6 | 3v6 | 6vo |66 [ 623|356 |6x3 7220

7x9 | 356 |9x11| 6x3 |95 [6x0 | 0x0|6xe 7m0

1057 [ 9x5 | sx9 | 0x0 | ono | 9x3 [ont1|3x0|7e7

7x9 | 7ea | 9x0 | 0x3 [oxt1f11x0]oxa|7e7 700





